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Q.1 In a certain code language, '+' represents 'x', '-' represents

'+', 'x' represents '=' and '~' represents '-'. What is the answer

to the following question? / fordT R WTST |, '+' T HaAd X' T,

"' /T HAAT '+ E, 'x' T Haddd '+ g AR ' AT AdAT - B
FreafeRaa v st SR FRT R?

72x9-14+2=7?

A) 20 B) 86
C) 30 ) KI
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Q.2 Preeti is the daughter of Rajesh and Amit is the son of

Ankita. Rajesh is the only son of Rajan. Ankita is the

daughter-in-law of Rajan. How is Preeti related to Amit?

fifar, TreT <Y 9t B 3T stfwa, siferar &t et 3| tiwr, T
T FhelTal ot 3| iiehar, T st =g 7| tifq, stfua o o
Heifera 22

A) Sister / & B) Mother / AT
C) Cousin /T TET D) Aunt / AT
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(a) Only II is implicit.

a1 FAfEa )

(b) Both I and II are implicit.

I 3R 11 ST fAfEa 2

(¢) Neither I nor II follows.

TA L ARTE I FAfRa 2
(d) only I is implicit.

*aor I fAfza R

Q.3 Statement h¥Yd: Crying babies attract more

attention of parents.

T FY Toel WIAT - TUAT 1 e srferes ATeRia oL T
2
Assumptions/ Wﬁ: I. They are wunable to

communicate properly.
I. 3 3ok | TS i § 16wy 3

II. The parents are engrossed in their work and have

left the Kkids to play by themselves.

I1. ATAT-fUaT 3Ta T | IS T § SR Toali ohl Qe o
wel & ferg Big fRU 8
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Q.4 Choose the option that is unrelated (or odd one
out amongst) the given set of words. /39 faemea =t
A Y AT 9131 o 9T T 9 | FAHS T (ATIH E
form) 2

a) Cacophony / sh¢ T

b) Ultrasonic / I Y IE ]
¢) Euphony / 931

d) Epiphany/ CHEEIC)
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Q.5 Tor9w 3119 =RY| / Find the odd one

a) 527 b) 815
¢) 649 d) 554
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Q.6 Find the odd one /Eﬁﬁﬁwaﬁzﬁ|

a) MPS  b) CFI
¢)JLO  d)SVY
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Q.7 ST ITTRIIT o THAUTTAR T ITaat
SII%Ud @i| / Arrange the following words

as per the order in dictionary.
1. Genius
2. Genuine
3. General

4. Generous

5. Generation
a)54123 b)35412
¢)52143 d)45213
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Q.8 From the given alternative words, select the one

which can be formed using the letters of the given word
only once /ﬁ'ﬂj@éﬂv‘%ﬂﬂ?mﬁﬁ‘ﬁ, WWT:I%, o
2w U vTeg ok 3TIRT T Hael Ueh SR SUART shieh (Hfta
IET IS IR CIE]

TRANSFERABLE

a) RARE b) TRADE
¢) LABLE  d) READ
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Q.9 A,B,C,D,E 3R F - 6 AT o Tk THE H, F o 3tk a15
TR HIT AT? I hT TR HE Fleh Tk AT URE T8 A1 B, C
o T8 TR T dET AT, T D U 1 o a0l uX 91| E Tordlt ues =iw
AT YT AT T A T 2 oh ITATA T AT 2 / In a group of 6 persons
A, B, C, D, E and F who was to the immediate left of F? They

were seated in a straight row facing the north. B was 3rd to the

left of C who was at a gap of 1 from D. E was at one of the

extreme ends and was at a gap of 2 from A.

a)A b)B
¢c) C dD
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Q.10 In the following question, which one set of letters when
sequentially placed at the gaps in the given letter series shall
complete it? / =T w1 &, €t 715 0T yREreT A FUT w1 W4T

THE TG T 0 Shieh T U3 T AT W & sl O him?

abb_ ¢ bab ca c

a) cacbcb b) cacbbc
¢) cabcecb d) caabcb




@ L MISSION SELECTION -SSC 2024 |

Q.11 =T Ty /, &Y 718 YT | o1 €&aT &t
o9 Y| / In the following question, select the

missing number from the given series.

2, 14, 38, 86, 182, ?

a) 374 b) 372
¢) 444 d) 376
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Q.12 Identity the diagram that best represents

the relationship among the given classes. Grass,

plants, roots / T<U 7T ST ok (i<l WaelT ol AW
ST Ufatferee sl STl ST hl Ug=IT i)
T, Ui, i




Q.13 In the following question, select the
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related number from the given alternatives. /
frerferam war 8, fw o Rremeut & & el
TTET T TI |

638 : 228 2296 : ?

2) 186  b) 72
¢) 629 d) 192




R sz MISSION SELECTION —SSC 2024 }
Y ) i et TR 1 TG
war e/ If only Conclusion I

Q.14 <Y / Statements:

Tt plugs, sockets 2/ All plugs are sockets.
follows.

h® sockets, pins ¥ / Some sockets are pins.
b) At hae fsehd 11 stqewor 2 P b
. T pins, fans g/ All pins are fans.
HAr g/ If only Conclusion II

TSRy / Conclusions:
follows.

I. S fans, plugs  / I. Some fans are plugs.
¢) Afg AT Al fwRy [T 1 orgemr 2 » i | plug
?F{?IT%/ If either Conclusion I 1L 39 fans, sockets %/ II. Some fans are

sockets.
or II follows.

RIEEEIREEET D E iR
AT EI-T{?IT%/ If neither




L MISSION SELECTION -SSC 2024 |

Q.15 Following questions are based on the figures given below

which represent different positions of the same dice. /

fFrateaRaa g f=r oo o e W emrenfa @ < U € ar@ sy
fafr sraermett @1 afaf fera & 2

Which number lies at the bottom face of the dice (i)?
/ TTET(i) % T el FeTer W hia-a7 Ha) fAfga 22
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Q.16 af CARPET ! TCEAPR % ®U § Shifed foraT SAT4T 2,
al NATIONAL T hI€ BRTT- / If CARPET is coded as
TCEAPR, then the code for NATIONAL would be

a) NLATNOIA b) LANOITAN
¢) LNAANTOI d) LNOINTAA
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> (a) Neither 1 nor 2 is implicit. Q.17 Tip: /gﬁﬁ:
Tar1 R TE 2 siafifEa 2 The year 2020 is a leap year. / a9
2020 T SFFEEY 2l

(b) Only assumption 2 is implicit.

. Assumption: / T
haCT JHERUT 2 AT Bl b )

1. February in 2020 will have 29
(¢) Only assumption 1 is implicit.

days.
HaeT TALUROM 1 At 2

1. 2020 ¥ wead o 29 fa g

(d) Both assumptions 1 and 2 are implicit.

1 37X 2 ST Yooy siafifea 2

2. The year 2017 is not a leap year.
2. Y 2017 Uk TN 21 2
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Q.18 Words of pairs having some relation. Find

out the same relation in another words. /gwf’r
T2q T yreat o St o Trer §| 3T aiE T
IET H AU GFa=8 [Td Y]

Milk : Emulsion :: Butter : ?

a) Aerosol b) Suspension

¢) Sol d) Gel
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Q.19 EARTH : FZSSI : : GLOBE : ?

a) FKAPF b) FMNCD
¢) HKPAF d) HMPCD
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Q.20 ITR ThIA H | ShiH-HT TR 3T T3 TH
31'@% aﬁugraﬁﬂﬁ? / Which one of the answer
figure shall be completed the given question figure.
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Q.21 Rohit is 12" from the left end and Mohit is 15" from the
right end in a row of boys . if there are 6 boys between Rohit
and Mohit , what could be maximum number of students ?
TSR hl Ueh Uk | Ufed 91 BR | 129 AR Ailed I SR A 159
TAT W B Tfe N 3R AIfEa % 78T 6 oISk 2, BTl <l HAferehan
AT FIT 8T Akt 82

A33
B.34
C.35
D.32
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Q.22 Rohit is 18" from the left end and Mohit is 13" from the
right end in a row of boys . if there are 8 boys between Rohit and
Mohit , what could be minimum number of students ?

Shi hl Teh Ufh H AR T BR A 185 AR AR TR BR A 135
o o 31 A AR afit ifRe 3 wew 8 w1 §, Ay et oy

=IAAH HEAT a1 21 Aehdl 82 A 30
B. 21
C.13

D. 18
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Q.23 Pankaj shifted 7 places towards his right to occupy the
middle position in the row. If there were 33 persons in the row

them what was the original position of pankaj from the right end

of the row?

Ukt 37U ST \9 TATT Raerer ATAT € aF SHRT T Uk & 3k
aer § 317 ATt © i ufr ¥ 33 sufve o Y ufer & =™ B O Ut
<kt o1 Tearfa s oft?

A.10TH
B.17TH
C.20TH
D. 24TH
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Q.24 In a row of 16 boys. When Prakash was shifted by
two place towards the left, he became 7th from the left

end. What was his earlier position from the right end of

the row ?

16 TTSeh! <hl ek UTRR T STal WehTIT Rl 3T TATT ITRA 3T

TorTAR FRaT T, A 9 AT SR A T A w e
UTxh oh ST B © SHhT UEeT Sh TAT ST T2 b g
C.9

D.10
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Q.25 How many triangles are there in this figure?

70 atTeRfa § feRem ey ¥2

(A) 38
(B) 44
(C) 46
(D) 54







